Set C

Open Book Examination (Nov.-Dec.) 2020, CBCS mode

Unique paper Code : 52417505

Name of Paper : Fundamentals of Financial Management
Semester 'V

Name of Course : B. Com (CBCS)

Duration: 3 Hours Maximum Marks : 75

Instructions for Candidates

1. It is an open book examination.
2. Attempt any four Questions. All questions carry equal marks.

3. Though the duration of examination is three hours, yet one additional hour will be given for
downloading the question paper, scanning the answer sheet, and uploading the answer sheet
to the portal.

4. Answers may be written either in Eng]ish or Hindi, but the same medium should be used
throughout the paper.

5. Use of simple calculator is allowed.

1. “Financial management is concerned with the solution of three major decisions a firm
must make.” What are these three decisions and how are they interrelated?

2. Is it possible for NPV and IRR methods to result in different rankings of investment
proposals? Why?

Management of ABC Ltd. has the option to buy either Machine A or Machine B. Machine
A has a cost of Rs. 90,000. Its expected life is 6 years with no salvage value at the end. It
would generate net cash flows of Rs. 25,000 per year. Machine B on the other hand
would cost Rs. 60,000. Its expected life is 6 years with no salvage value at the end. It
would generate net cash flow of Rs. 18,000 per year. Assuming that the cost of capital of
ABC Ltd. is 10%, you are required to calculate:




i. Net Present Value for each machine
ii. Internal rate of return for each machine
iii. Which machine should be recommended and why?

3. The *Modigliani-Miller model’ is the behavioral justification of the NOI approach to the
Capital Structure theory. Explain.

A company has annual net operating income of Rs.9 lakhs. It has Rs.40 lakhs 8% debentures.
The overall capitalization rate is 10%. You are required to calculate the value of the firm and
the equity capitalization rate according to Net Operating Income Approach. What will be the
effect on the value of the firm and the equity capitalization rate if the debenture debt is
increased to Rs.60 lakhs?

r

4. “Market value wei ghts are superior to book value weights” Comment.

The following is the capital structure of XYZ Ltd.

L Sources Amount (Rs.) Sppettic C.OSt Oﬂ
Capital
Equity Share Capital
(5,00,000 equity shares of Rs. 10 50,00,000 10%
each)
’ Preference Share Capital
15,00,000 8%
(1,50,000 shares of Rs. 10 each)
L 10% Debentures of Rs. 1,000 each 20,00,000 5%
L Retained Earnings 25,00,000 10%

Presently, the debentures are being traded at 90%, preference shares at par and the equity shares
at Rs. 15 per share. Find out the WACC based on book value wei ghts and market value weights.

5. PQR Ltd. currently has 120 lakh equity shares outstanding. Current market price per share is
Rs. 12. The net income for the current year is Rs. 2 crore and investment budget is also of Rs. 2
crore. Cost of equity is 10%. The company is planning to declare dividend @ Rs. 1 per share.
_ Assuming MM Approach:
f (1) Calculate market price per share if dividend is declared and if it is not declared.
(1) How many new equity shares are to be issued under both options?
(¢i7) Show that the total market value of shares remain unaffected by the dividend decision.



Also, explain the relevance of Stable dividend policy.

6. “Excess as well as shortage of inventory is not desirable for a business firm”. Explain.
Assuming monthly sales level of 3,000 units, estimate the gross working capital requirements of
XYZ Ltd., if the desired cash balance is 5% of gross working capital requirement and work-in-
progress is 25% complete with respect to manufacturing expenses. The expected cost of goods is
as follows:

Rs. (per unit)

Raw material 120
Manufacturing expenses (including depreciation Rs.5 per unit) 35
Selling, administration and financia] expenses 15
Selling price 220
The duration at various stages of operating cycle is expected to be as follows:
Raw material stage 2 months
Work-in-progress stage I month
Finished goods stage 1/2 month
Debtors stage 1 month

*******************************************’k**************




BT % TG (TargL —ZEwaL), 2020 , Al = o=

@@?ﬂlﬁz \ 52U1F 505
oz 1A AT a8 ® g

NI ¢«
DL &1 a9 ¢ .o (& )

e, T

. = S gm ol 2

2. B=EY g g5 & w= 5o | wh T & s s 2

3 o] T Ty o 2 @ve 2\ _g1005) SBAOE &=,
==L g SHT SO S 9Ea T SIS s30T S
foe =faflay 4 aoar 2= oftean |

b =z g2 & ©Y 2= o1 =5ie) I A S =
HTET 1 qBW1 X 1 I AT/ AR 7% Z B afew)

5. mmm'ﬁs@\ﬁzamgﬁm %;rﬂu'ﬁm"%,

At L L “%:zﬁ—if II==T 5= SFZg mﬁ%m@q%
L aEtT R S = cmﬁ%rm—on%‘lzl”_
o I8 o &a TE au @-@%’3’9\3
razeds & ?

TE . 2 . ST NPV S IRR WRIR TR B33 geawy
& Fr=—= Lorn D ooy aTeg “F ?

AR c 22 ga== & 08 Jahig '@ 'z =
Tl a7 e & @y 2 sEfE e
£157A qo,oool—-ﬁq:b(”%' BT &R ST ST
ufﬁ:['%‘:ﬂﬁ-&-d\-{mw'%édﬁ"-i[ﬁz
W'ﬂ%ﬂ‘?a’zz_e,ooo/—ﬁﬁ—tﬁm

s A F 1 aft Y X% Fa §”




Er HHAA ¢0,000|~ FTXE | s SFAAA oATa=T
5 ) T % 6 a2 | re gAY A= (8,000]-

FHY LT GAE T SO | A2 AT gr
ABC @'%%gﬁr%ﬁﬁm \o"],"’&,c'ﬂ“ QIO 4, 1ol

AT Z 1 - ,
v SIS FRE T a1z AEEE g |

2) U HJ=H % At £r el I
2) %ﬁﬂgﬁqﬁﬁl%&md%ﬁﬁﬁ—q@q&ﬁ?

T2A. 2 AL TR - shga ! Qg & IS SR
% fre NoT &fraTo] o angefis SrEy

2 _ gosz ST |
FIT FATY

3R] Fr g T=NoT TN q AR |
“€ \&T no TT &% %%m"inmg@ﬁm
ZT 107 7L | SR o &1 o v 455 TR
o geem & LA STFFST L & <X
& sl &= | AT BT 0T o odig A%
aaT Rror oftaT B, 3 o & Fou Hx 1954

\g‘\aﬁmlazqimﬂwﬁ%?n?

TGN, 50 92 qH T & I Az T 95T

se=R
¥ 1~ ool SR |
xyz frfifez & goft 3= 15 s

~ W | mera,| e

%\%\ﬁaﬁmgﬁ) 5,oo,ooo/~ 50 ,60,00p [— oa
<3 BT 1o FUE AR, / Lo

m-%:@h 1,50 ;00 O/~ lSIOOrOOO/-— %°/D
LT 10 ]~ KT G, L




107 BS=1 ), 000, R A
' B 20,007/000 5/3
ke Hed

I

gH=RA CaIPIY 2 5,00,000 ,07a

—

aqTT 3, ZS=is & aramg an’s AIEAEEY
‘hqmﬁim%qﬁ&ﬁm;w}?]%
X T e g WAcT 51 AT e3NIU l ﬂ\

g3 . PaR &Pz 8879 & 120 AIO ZVada) T
s | o ety Al &P 1 B3
% ey axf & T a1 T aHAT FIH
2 S PRm awz off awE iy 2 &G
S IT5TE 107 R | ST A @ 4 w9y SR
Sz -£r STl sy € Ao &= TET 2
Mr\’\g&ﬁ%‘l‘ﬂr:ﬁ@t*

0 qﬁ%ﬂmm@'amﬁ'u@ T =T
g & SR Frzr CTATR I &) S ==Y BT

uital |
i) 39 feea % JzA FBAT T sET5 S vt
5z ver 2 | |

Gihy cosz Sfore & aenar S from & ERT H ST
SO o ZIHTdA JeA R ) =T e oty
£ TEBTHAT i avsT TR |

925 ¢ . “SARET & 2 & sH T a3, T
4 B aEgy =gt 2 - TS SR | 2,000 '
a5 IS, AT AT H RSN Ay
—gl?x\/z_%ﬁ@:é'c%m SN GOT a2

= ST S A& | TG ARG S Oy aas




'
FrIEter goir dr enaZHA S q] °
y @ 1 5% "L Stz _{S
ST G mrae H ';t’a'fﬁ'qxd?\'!ﬁ' 25 » 91 %\0:

v T HQETA 1A &5 THTL 1

- s = - tﬂﬁéa?‘é)
eeTs) ST LFEEN 5% A1 g0

o ghE T ) 25
frsT s @@ famrT ST '3
T gl =

FTT TR FAL '
. e \ Hé"@]q’
oz IILT ‘
AR P I;:q""ﬂ”
RIZIAT | HE



